A& O & ALY o

20238 = 20il&t ot==AIASEH &

Al A

SN MBS
B 520l 2|2 ASlET SEA
Bl SteHelAE 25 (Gt AY SE) (=S AISSE3H) (Che 2l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot it 1,342,380 733,600 608,780
= 300,000
== 100,000
[Ea 942,380
SEXQ A2 dote =2 1,342,380 733,600 608,780
2 300,000
= 100,000
2 2,380
SteHelAlE BE(SHTAY SBalH)(GHCAISS 1,342,380 733,600 608,780
=12)
= 300,000
< 100,000
Ea 942,380
St=MelAlE =Xzl 782,380 668,600 113,780
101 @124H| 5,000 2,000 3,000
M ORIMZZ2NSE S 5,000 2,000 3,000
O8&ots=k Ald F=8del URY 5,000
—33ol+E AME 8 JHl & HM=HY
1,000,000 %52 5,000
201 fer= 3| 371,500 311,500 60,000
01 At 2t 87,500 27,500 60,000
O3S0tk AME 2887 gRF8 =28
Bl 3,000
Odt=E8 28 4223 72
4,500,000 1= 4,500
O33ot=k 2&Xel
80,000,000& * 1 80,000
02 s3=gHl 284,000 284,000 0
O3ot+E Al &) & S8 2= 192,000
—330t=E AlE HIIRS
92,9003 * 14004 A+ 12 186,072
—B30I=E A2 S22
39,920 #7523 6123 35,928
oZsitg FAlZd 12,000
—AUsx 2SU 4,000,000 ~2CH 8,000
—ASA 7Al2c 2,000, 0002 *2CH 4,000
O335t+=E A& (ot=2t2) J1=T ]
80,000,000 x 14 80,000
202 04| 3,000 3,000
01 2LHA b 3,000 3,000
O33otr=2 A8 FXI2el ol
3,000,000& 1= 3,000
401 AlZHIZ S0 402,880 302,100 100,780
01 Al&H| 400,000 300,000 100,000
O225t=E Al |XI2e] 400,000
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SEN0 A2 ot =EHA
St=HelAlE 2B (oA SE3H) (St AIESE3IH) (Che 2l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=G0t Al B L D8]
400,000,000 * 1 400,000
03 Al =2 0HHI 2,880 2,100 780
Odt==XelAlE |2
400,000,000& *0.72% 2,880
ot Al EE Rt 10,000 10,000
201 2= 10,000 10,000
01 AtR2t2lt] 10,000 10,000
ODXM M= 10,000,000 *1 10,000
ot==T Hi==&H| EXISAt 50,000 50,000 0
401 AlZHIZ S0 50,000 50,000
01 Al&HI 50,000 50,000
Obli==&8| EXISAt 50,000
SSoteXcAE S2 & HEAMY 500,000 0 500,000
= 300,000
= 100,000
= 100,000
401 AIEHIZ SO 500,000 0 500,000
= 300,000
< 100,000
s 100,000
01 Al&H| 500,000 0 500,000
O+ S&otrXelAe &4 & 500,000
= 300,000
< 100,000
[Ea 100,000
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